)

S
AFTER REMOVING ALLPARTS FROM CONTAINER,
ASSEMBLE PLATFORM ASSEMBLY AS FOLLOWS, CROSS STRAP

STEP 1 .
Place longitudinals parallel to each other with flange
side up. Install cross straps into notches of longitudinals
and press down until tabs lock in place under
longitudinal flanges. Install insulators on fongitudinal
flanges and turn platform assembly right side up, taking
care not to bend cross straps. Install nuts onto each end
of cross strap. (See Fig. 1)

STk 2
With set screw hole in front and rear bases facing away
from end of platform assembly, and center base hole
facing rearward, attach bases to cross strap by inserting
screw provided into, but not thru, nut. (See Fig. 2)

LONGITUDINAL

srep 3 FIGURE 1

nsert support oval bosses into end rails and be sure that
the curvature of the.end rails is in an upward position
that will follow the curvature of the roof. Align screw
holes tnsert screws provided, and tighten screws. (See
— = Fig. 3 - e e s i . e
STEP 4 ' SET SCREW HOLE
' Seat end rail assembly into base by inserting pointed end

of support into conical hole in base. (See Fig. 3) Also
assemble center support,

A
# PLATFORM
ASSY.
t/

STEP S : :
Assemble two side rails to two end rail assemblies and " TENSION SCREW
center support and be sure that the curvature of the side 8-32 X 1-1/8

rails is in an upward position that will follow the curva-
ture of the roof. s
SUPPORT
BASE

STFP G
Tighten set screw in each base into supports. (See Fig. 3)

FIGURE 2

SIDE RAIL

_——— SCREW 10-24 X 3/4

SCREW 10-24 X 3/8

ROUND BOSS

SUPPORT END RAIL

OVAL BOSS

SET SCREW .
POINTED END

FORM NO. 07833



STEP 7
Before fitting procedure is started, masking tape should
be applied to roof panel in six local support attaching
areas to avoid marring car finish, (See Fig. 4)
NOTE: HANDLE LUGGAGE CARRIER ASSEMBLY
RY TUBULAR RAILS ONLY,

STEP &
Place luggage carrier assembly 1" forward of tailgate
hinge on roof using extreme care to insure equal dis-
tance on both sides.

STEP &
Making sure that bases fit flat on roof, use bases as tem-
plates, marking hole centers with wax pencil or scriber.
(See Fig. 4)

‘EP 10
Remove assembly from roof, center punch, pilot drill
and enlarge holes. {See Fig. 5)
CAUTION: CARE MUST BE TAKEN TO PREVENT
DRILL FROM PIERCING INTERIOR HEADLINING.
- MAXIMUM DRILL PENETRATION THRU ROOF
NOT TO EXCEED 3/8"".

STEP 11
Remove tape, place gaskets over holes and insert special
sealing nuts, {See Fig. 5)
NOTE: USE LIGHT PRESSURE ON CARRIER AS-
SEMBLY MOUNTING SCREWS UNTIL THREADS EN-
GAGE INTO NUT TO AVOID PUSHING NUT THRU
ROOF INTERIOR.

STEP 12
Position carrier assembly on gaskets, insert screws pro-
vided, and tighten screws in base securely. {See Fig. 5)

STEP 13

Tighten tension screws equally to provide even tension
on platform assembly. (See Fig. 2)

NOTE: CAUTION TAG MUST BE PLACED ON CAR-
RIER ASSEMBLY FOR CUSTOMER INFORMATION
ON USE OF LUGGAGE CARRIER. (See Fig. 6)

Rt

LONGITUDINAL BARS (5)

END RAIL

SIDE RAIL

CAUTION TAG

FRONT OF CAR

e

A
/ff/;'jPORT

5

SCRIBER OR
WAX PENCIL

MASKING TAPE

FIGURE 4

SCREW
1/4-20 x 1" (12)

TENSION
SCREW

DRILL (12) 1/8 INCH DIA.

PILOT HOLES THEN |
ENLARGE TO 1/2 INCH DIA

FIGURE 5

GASKET (6)

. _

S5

Z Y
: ~PLATFORM ASSY.

, TAIL GATE HINGE

FORM NO. 07833

\\\ \ EIGURE 6



G

INSULATOR

AFTER REMOVING ALLPARTS FROM:CONTAINER,
ASSEMBLE PLATFORM ASSEMBLY AS FOLLOWS.

STEP 1 » .
Place longitudinals paraliel to each other with flange
side up. Insiall cross straps into notches of longitudinals
and press down until tabs lock in place under
longitudinal flanges. |Install insulators on longitudinal
flanges and turn platform assembly right side up, taking
care not to bend cross straps. Install nuts onto each end
of cross strap. (See Fig. 1)

STEr 2
With set screw hole in front and rear bases facing away
from end of platform assembly, and center base hole
facing rearward, attach bases to cross strap by inserting
screw provided into, but not thru, nut. (See Fig. 2)

LONGITUDINAL

FIGURE 1

. Wmﬁonm
y . ASSY,

STEP 3
fnsert support oval bosses into end rails and be sure that
the curvature of the.end rails is in an upward position
that wil} follow the curvature of the roof. Align screw
holes insert screws provided, and tighten screws. (See

CTUTTRIg. 3N ) Tl e

SET SCREW HOLE

STEP 4

' Seat end rail assembly into base by inserting pointed end
of support into conical hole in base, {See Fig, 3) Also
assemble center support,

STEP5 : ‘
Assemble two side rails to two end rail assemblies and TENSION SCREW
center support and be sure that the curvature of the side 8-32 X 1-1/8

rails is in an upward position that will follow the curva-

ture of the roof.
SUPPORT

BASE

STFP & -
Tighten set screw in each base into supports. (See Fig, 3)

FIGURE 2
SIDE RAIL SCREW 10-24 X 3/4
A;/f—/—-—— SCREW 10-24 X 3/8
ROUND BOSS o~
SUPPORT END RAIL
OVAL BOSS
SET SCREW
POINTED END
FIGURE 3 e S

FORM RO. 07823




STEP 7
Before fitting procedure is started, masking taps should
be applied to roof panel in six local support attaching
areas to avoid marring car finish, (See Fig. 4)
NOTE: HANDLE LUGGAGE CARRIER ASSEMBLY
BY TUBULAR RAILS ONLY,

STEP 8 :
Place luggage carrier assembly 1" forward of tailgate

hinge on’ roof using extreme care to insure equal dis-
tance on both sides.

STEP 9
Maling sure that bases fit flat on roof, use bases as tem-

plates, marking hole centers with wax pencil or scriber.
(See Fig. 4)

TEP 10
Remove assembly from roof, center punch, pilot drilf
and enlarge holes. (See Fig. 5)
CAUTION: CARE MUST BE TAKEN TO PREVENT
DRILL FROM PIERCING INTERIOR HEADLINING.
- MAXIMUM  DRILL PENETRATION THRU ROOF
NOT TO EXCEED 3/8",

STEP 11
Remove tape, place gaskets over holes and insert special
sealing nuts, (See Fig, 5)
NOTE: USE LIGHT PRESSURE ON CARRIER AS-
SEMBLY MOUNTING SCREWS UNTIL THREADS EN-
GAGE INTO NUT TO AVOID PUSHING NUT THRU
ROOF INTERIOR.

STEP 12
Position carrier assembly on gaskets, insert screws pro-
" vided, and tighten screws in base securely. (See Fig. 5)

STEP 13

Tighten tension screws equally to provide even tension
on platform assembly. (See Fig. 2)

NOTE: CAUTION TAG MUST BE PLACED ON CAR-
RIER ASSEMBLY FOR CUSTOMER INFORMATION
ON USE OF LUGGAGE CARRIER. (See Fig. 6)

LONGITUDINAL BARS (5) -

END RAIL

SIDE RAIL
CAUTION TAG

: /:€ FRONT OF CAR

SCRIBER OR
WAX PENCIL

MASKING TaPE

FIGURE 4

SCREW
1/4-20 x 1" (12)

TENSION

SCREW BASE

e T~ ]~ SELF SEALING
=T NUT (12)

=
DRILL (12) 1/8 INCH DIA, =

PILOT HOLES THEN ~—_ |

ENLARGE TO 1/2 INCH DIA.
FIGURE 5

GASKET (6)

TAIL GATE HINGE

FIGURE 6

FORM NO. 07833




